51-0-0

4-8-0

8-0-0

30-4-0

8-0-0

o . 7460 R )
.« 39-2-0 _22-4-0. . . . . g 1300 .. ...
; 21-4-0 Vﬁ
_ _ _ _ 1
| y q 2-8-0
_ | “ — — _ — J\ ——i
N
| | .
| , | | N
fr— e | M~
T01 ROOF TRUSS - | B
M.
% L, —BRG.POSTREQ, ~
i m & T4 S
- = o) T4
z | o TH4 S
| BEAM 2 O X TH4 |
%) _r_ x__ T4 nO.u
ﬂww (o] | ‘ T4 o
= | 0. <
_m22 - I m_ T4 |BrRG WALL | b
< fi"% erc <<>:.\ M Fo1 | | _\ T4 || N
=4 L | \ T4
% Ti4 /g v g TH4
& z 3 A o
T4 , e @& 2 o TI14
O x < Ol N _
T4 /o || o g | T4 |
(T4 N Ll _* \ T4
- — { J ! —
R T4 e g Eno | T4
_ T4 S-ﬁ-m - Sael |__._|._B.m.m|._ﬁh|_.._ 480
| BEAM3 J I BEAM3 | E S
I |
=3
| S
| &
= . - y
- . - - |
- 18-2-0 o 34-0-0 . 22-4-0

HANGER SCHEDWL

BEARING HEIGHT 9CHEDULE

| 9r-or

FLOOR SYSTEM
1'4" DEEP

NOTES:

1) REFER T@ HID 91 (RECOMMENDATIONS FOR
HANDLING INGTALLATION AND TEMPORARY BRACING.)
REFER T0 ENGINEERED DRAWINGS FOR PERMANENT
BRACING REQUIRED

2) ALL TRUSSES (INCLUDING TRUSSES UNDER
VALLEY FRAMING) MUST BE COMPLETELY
DECKED OR REFER T0 DETAIL Vi05 FOR
ALTERNATE BRACING REQUIREMENTS

%) ALL VALLEYS ARE T0 DE CONVENTIONALLY
FRAMED BY BUILDER

4) ALL TRUSSES ARE DESIGNED FOR 2' oc
MAXIMUM SPACING, UNLESS OTHERWISE NOTED

5) ALL WALLS SHOWN ON PLACEMENT
PLAN ARE CONSIDERED T0 BE LOAD
DEARING, UNLESS OTHERWISE NOTED

6.) 5Y42 TRUSSES MUST BE INSTALLED
WITH THE TOP BEING UP

7) ALL ROOF TRUSS HANGERS TO BE SIMPSON
HU926 UNLESS OTHERWISE NOTED  ALL
FLOGR TRUSS HANGERS T0 BE 5IMPSON
THA42Z UNLESS OTHERWISE NOTED

8.) BEAMIHEADERILINTEL (HDR) T0 BE
FURNISHED BY BUILDER

SHOP DRAWING APPROVAL

THIG LAYQUT 15 THE SOLE SOURCE FOR FABRICATION OF
TRUSSES AND VOiD5 ALL PREVIOUS ARCHITECTURAL OR OTHER
TRUSS LAYOUTS. REVIEW AND APPROVAL OF THIS LAYOUT MUST
BE RECEIVED BEFORE ANY TRUSSES WILL BE BULT VERIFY ALL
CONDITIONG T0 INGURE AGAINGT CHANGES THAT WILL RESLLT
N EXTRA CHARGES TO YOU

fequested Debery Date

Mrtored ¥y Date:

~gBuilders

4FirstSource

Bunnell
PHONE G04-437-3349 FAX 904-437-3094

Jacksonville
PHONE 4A04-772-6100 FAX 4A04-772-1G973

Lake City

PHONE 904-755-6894 FAX 404-7553-7473

Sanford
PHONE 407-322-0059 FAX 407-322-555%

f_ma.___._umm_

DON REED CONST.

[LEGAL ADDRESS:
COLUMBIA, FL

ROBBINS RES. NTS

DATE. “OBE |
12/01/05 L132305F




- - - - o - . N . BEARING HEIGHT SCHEDLLE

] 9-1-2
HANGER SCHEDULE
(19) HTU 26 18" 7¢

74-6-0

13-0-0

. - —— -

39-2-0 22-4-0

51-0-0

2-8-0

NOTES:

1) REFER T0 HIB 91 (RECOMMENDATIONS FOR
HANDLING INSTALLATION AND TEMPORARY BRACING.)
REFER 70 ENGINEERED DRAWINGS FOR PERMANENT
BRACING REQUIRED

e\ 2) ALL TRUSSES (INCLUDING TRUSSES UNDER
VALLEY FRAMING) MUST BE COMPLETELY
DECKED OR REFER 70 DETAIL V105 FOR
ALTERNATE BRACING REQUIREMENTS.

8-0-0

7-4-0

TOR '

[}1/74

R

' 1 <. | N P i 1 e . £ 0 0

| 1L THIS AREA = =

—H.”}—/\_mo w< O-—-Immm | 3) ALL VALLEYS ARE TO BE CONVENTIONALLY
FRAMED BY BUILDER

_ 4.) ALL TRUSSES ARE DESIGNED FOR 2' 0.
MAXIMUM SPACING, UNLESS OTHERWISE NOTED.

11-9-8

| 5) ALL WALLS SHOWN ON PLACEMENT
PLAN ARE CONSIDERED TO BE LOAD
BEARING, UNLESS OTHERWISE NOTED

mm>—<_ m m 6) 9Y42 TRUSSES MUST BE INSTALLED
- WITH THE TOP BEING UP

7.} ALL ROOF TRUSS HANGERS T0O BE SIMPSON
HU926 UNLESS OTHERWISE NOTED. ALL
FLOOR TRUSS HANGERS T0 BE 5IMPSON
THA422 UNLESS OTHERWISE NOTED.

-

a
-+
|
f
t

BEAM 1

T17
T17
T18
T18
T18
T18
43-0-0

8) BEAM/HEADER/LINTEL (HDR) TO BE
FURNISHED BY BUILDER

SHOP DRAWING APPROVAL

_ | THIG LAYQUT 19 THE SOLE SOURCE FOR FABRICATION OF
TRUS5E9 AND Y0iD5 ALL PREVIOUS ARCHITECTURAL OR OTHER
_ _ TRUSS LAYOUTS. REVIEW AND APPROVAL OF THIS LAYOUT MUST
BE RECEIVED BEFORE ANY TRUSSES WILL BE BUILT. VERIFY ALL
_ _ | _ CONDITIONS T0 INSURE AGAINGT CHANGES THAT WILL RESLT
| IN EXTRA CHARGES T0 YOU.

30-4-0
28-4-0

T7
T17

Tequested Defrery Date

Approved by ate:

et “qBuilders

4-8-0 aFirstSource
Bunnell
Y PHONE Q04 437-3349 FAX Q04 43%7-34494

Jacksonville
PHONE Q04 772 6100 FAX Q04-772-1973

Lake City
PHONE 404 755-6894 FAX A04-755-7473%

Sanford
PHONE 407-322-0059 FAX: 407-322-5553

TO3

4-8-0

T————0VER FRAMING BY
OTHERS IN THE DOORMER AREA

8-0-0
8-0-0

BUILDER:
DON REED CONST.

LEGAL ADDRESS:
COLUMBIA, FL

22-4-0 MODEL. _ REVISION:
ROBBINS RES. NTS
BATE:
1

|‘1

110G
ro
I

ki
A

18-2-0

DRAWNBY: [JOB #
2/01/05 L 132305

4-11-0




2D /4 = /4"
UNIVERSAL SCREVS

I 206G
STRUT
STRUT CUIP

TYPICAL TOP STRUT ATTACHMENT /S1)

STRUT cLIP 3° 20GA. STRUT
¢2) PER SECTION ATTACHED

AT EACH STILE

@) 1/4° x 3/4°
UNIVERSAL SCREWS

NYLON OR STEEL
ROLLER W/5° STEM

14GA. DURASAFE
ROLLER CARRIER ATTACHED
W/ C4) 1/74° x I/4°

€1> #10 x 3/4° PAN HEAD-X
HEX HEAD SCREWS

SCREW. TYPICAL ON

ALL SECTIONS EXCEPT
TOP. TOP INSIDE CORNER
EACH SIDE

(1) 5/167 DIA. x 1-3/4"

LAG BOLT ATTACHED TO JAMB

AT EA. JAMB BRACKET STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPUED 3Y INSTALLER)

4 ‘r Y

YR 7 S u—

7/16" DIA.
T RETAINER
{1) PER ROUER

TRACK MOUNTING DETAIL

2" GALV. STEEL TRACK
TRACK THICKNESS 063"

/

N.T.S N—
. 3/ TYPICAL DURASAFE_END HINGE /ST —
B NS G@AIED SECTIN 4 2 16 GA RESIDENTIAL JUNIOR
) j NOT AVAILABLE IN 18° SECTIONT G 27 GA EXTERIOR SKIN TOP FIXTURE ATTACHED W/
124 w | 3 A KX (3) 1/4™ x 3/4" HEX HEAD SCREWS
; = AOJUSTABLE SUDE BRACKET ATTACHED
7w A ———— : = Vnu W/(2) 1/4” x 1/2° BOLT AND NUTS
— 2/ 777 W77 BF M..,.. (o)
m.. D ‘... = .... = B T \\ \\. \\\ \\\\ ” 21 1] '"0. ~3y
168 a- | \\ \\\ \\ 7/, L ) ! oS 27 GA INTERIOR SKIN
Z AiIVZ = | 4a | niie | S
= 3
80 1 N Pods
s 2)° naj- qw&
] wm. 7%
. 1 ~———————— CFC-FREE_EXPANCED
2 ! 1 a2 hay - POLYSTYRENE INSULATION
L ) R=573, U=017
I 2 -}
93
. 104” -
2 2 = END HINGE
] ! 14 GA.
_ Mm. '
_ 46— | —49s
6°0%
SECTION HEIGHT
SECTION HEIGHT
INSIDE_ELEVATION
L STRUT SPACING
14GA. DURASAFE STRUT SPACING
GA. Al .
3+ 20GA. STRUTS ATTACHED END HINGE ATTACHED ~ ° C0oh FTRJTS ATTACHED
V7 () 1747 x 374° V/ (2) 1/4° x 3/4° HEX HEAD SCREars
HEX HEAD SCREWS HEX HEAD SCRE/S \nm%nmwcnwmmmmsrnxmu
NG V7 (4} 174° x 3/4°
L 72\ HEX HEAD SCREWS

BBRS BOTTOM

BRACKET ATTACHED
W/(3) 1742 X 3/4°
HEX HEAD SCREWS.

“TTT——————_CONT. ALUN. EXTRUSION
W/ CONT. VINYL.ASTRAGAL

< SECTION 4—A (SIDE_VIEW)

TYPICAL DURASAFE CENTER HINGE/ S1\

N.T.S. 6
WOCD JAMB_ATTACHMENT T0 STRUCTURE

RATED FOR 110 MPH F)STEST-MRE BASIC WaND SPEEDS

20 GA, GALV. S
END STILE TEEL

YERTICAL JAMR ATTAGINFNT YQ wyoon 7RAME STRUCTURE

S/16” X 3° LAG SCREWS STARTING g FROM ENDS THEN 24" O.C.
HILTI XVK BOLT 3/8° X 4° STARTNG &° FROM ENDS THEN 24° O.C.

HRLT! SLEEVE ANCHOR 3/87 X 234 STARTING 0" FROM ENDS THEN 24° O.C.
ITW/RAMSET RED HEAD 3/8" X 3 sTARTING 8° FROM ENDS THEN 24" 0.C

YERTICAL JAMB ATIACHHENT TQ ¢-sg pLocs

HILT) SLEEVE ANCHOR 3/8% X 234> STARTING 6 FROM ENDS THEN 24 0.C.
ITW/RAMSET TAPCON 1/47 X 2-3 4= STARTING 8 FROM ENDS, USE PAIRS OF
FASTENERS (3° APAAT) AT 15° g

LAGS ANO BOLTS CAN BE COUNTERsuny TO PROVIDE A FLUSH MOUNTING SURFACE.
2 X & SOUTHERN YELLOW PINE *PREPARATION OF WCOD JAMBS BY gmnens
(NO. 2 OR BETIER) —

P v/ (2> 174”7 x 3/4° HEX HEAD SCREVS

GLAZING OPTION CROSS SECTION

TEST No. SBC—580—020 ON MAY 24, 2000 INCLUDED GLASS WANDOWS IN THE DOOR BEING USED. THE
TEST PRESSURES WERE +49.5 PSF AND —51.9 PSF. BY COMPARISION, EIGHT (8) WINOOWS MAY BE

INSTALLED IN (1) ONE SECTION OF THE 16° X 7° AND 16’ X B’ MOCEL 1500-0 DOORS.

4 Deorafrome WINDOW FRAME
WITH UV PROTECTION

MIN. 3/32° THICK SSB GLASS

TIONAL Decro INSERTS
WTH UV PROTECTICN

(L
L= )

SECTION B-—-8

10) 48 X 3/4°
N HEAD SCREWS
AT EACH WINDOW FRAME

OLDED INSIDE FRAME

|

SPLICE TRACKS AT THIS LOCATICN
W/ (4) 1/4"—20 TRACK SPLICE BOLTS & NUTS

mlle.*m

I

TRACK CONFIGURATION FOR 6'6° UP TO 8° TALL DOORS

S
(sRucE)

SECURE TO JAMB WM (3

LAG

JANB BRA
ATTACHED
TRACK SPUCE BOS

.mc_rou_%.u_

SRS ExR M ER

“*  "REVIEWED FO
EODE COMPLIANCE

12 GA. GALV. STEEL

BhlRjng & Lym

JAMB BRACKET LOCATIONS

A B Cc D E S
6'-6"| 4’ lp1-1/2"] 39° 57° 70°)
7°-0"| 4°l21-1/2°| 4@2° 637 76°

7'-6°| 4° [t8-1/2°) 36° S54° 72° |82
8'-0°} 4° R1-l/2°] 39° 57° 75° 88"

el

\““

KEEP THIS PLAN ON )OB

& NUT
A e

Exdminer m_mﬂ.. :
License No.

MAY 17 2001,
,\.a.vms_s_ uiy-Jax., FL.

A

SPECFICATIONS AND NOTES

1. DOORS AND HARDWARE WLl BE DESIGNED, MANUFACTURED
AND INSTALLED WTH STANDAROS AS SET FORTH BY DASMA.
2. DOOR SECTIONS SHALL BE 27 GA. MIN. (.0167) INTERIOR AND EXTERIOR
ROLLED FORMED LIGHT CONMERCIAL QUALITY, GC—40 GALVANIZATION
3. DOGRS UPTG 7°0° HICH CONSIST OF (4) SECTIONS AS SHOWN.
4. DOORS UPTD 8'0° HIGH CONSIST OF (5) SECTIONS AS SHOWN.
3. SUPPORTING STRUCTURAL ELDMENTS SHALL BE DESGNED
BY A RECISTRED PROFESSONAL ENGNEER FOR WIND LOADS
INDICATED ON THIS DRAMNG IN ADDATION- TO OTHER LOADINGS.
8. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WTH T™E PROCEDURE DESCRIBED IN ASTM E330-—80, AND THE
SOUTHERN BUKDING CODE SECTION 1508 WMIND LDAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE ORAWINGS WERE CALCLLATED USING
THE FOLLOWING PARAMETERS:
A. BASC WINO SPEED OF 1310 NPH
9. DOOR CAN BE INSTALLED WM S FEET OF DOORS WDTH
INSDE THE EDCE STRIP.

€. 15" MEAN ROQF HEIGHT AT ANY SLOPE 1 WM W] GE 4 TRAG RAEER
D. USE FACTUR OF 1.0 on SBC-580-019-J
£ EXPOSURE RATING OF C B - ot

SAE M1 1o SR s 17}

TEST LOADS

—43.3

PSF

SEN GRAISY OETX AVO _ VDETOS-IA DL NC #7163

MODEL #1500 WeatherGuard




@ /4° x 3/4°
UNIVERSAL SCREVS

STRUT cip 3~ 20GA. STRUT
2> PER SECTION ATTACHED

W/ €2) 1/4° x 3/4° HEX HEAD SCREVS

GLAZING OPTION CROSS SECTION

I’ 20GA
STRUT AT EACH STILE
TEST No. SBC-580-020 ON MAY 24, 2000 INCLUDED GLASS WINDOWS IN THE DOOR BEING USED. THE
STRUT cuP . M_mzv. ommgﬂ wmv y TEST PRESSURES WERE +49.5 PSF AND —51.9 PSF, BY COMPARISION, EGHT (8) WINDOWS MAY BE
“Mvw.:u»_r TOP_STRUT ATTACHMENT \mj ~a_~ Evs % INSTAWED IN (1) ONE SECTION OF THE 16 X 7° AND 16' X 8" MODEL 15D00-D DOORS.
— r T 3 TYPICAL DURASAFE END HINGE (ST o 16 GA RESIOENTIAL ANICR B O PeoTe s TRAME M. 337 TRAK 558 CUSS
LT GLAZED STCTIN \_ 4 . ERTS
NOT AVAILABLE 1N 18- \ 4/ 27 ca exrerior sk TOP FIXTURE ATTACHED W/ TIONAL Decro INS
=2y e [ 1 A 1 SECTIoNs ./ (3) 1/4~ x 3/4~ HEX HEAD SCREWS WITH UV PROTECTION
- . ADJUSTABLE SLIDE BRACKET ATTACHED
— - - s
7% - A o \\ AR T——— — w/(2) 1/4° x 1/2° BOLT AND NUT
— \\ \ . \ . 2
3 o N = o = = = = = < : . . A N
185 L AN \\ 1l \\\ i \\ / \. = \\ MH_ \\\ \\\ 1 2 o 27 GA INTERIOR SKIN @F
) /L 4 \\ = = = _ \ \
| —— P £ ) 7 )
7° —
801 :
By 1w It +__ 1 g mi SECTION B-8 QDED INSIDE FRAME
S 1 10) #8 X 3/4"
. A r HEAD SCREWS
of S A — ok 770r . » AT EACH WINDOW FRAME
- : 1 = : - [X8d=——————— CFC-FREE EXPANDED 5
8y e | 5 1 1 2 . POLYSTYRENE INSULATION S —s 8]
— 1 . R=573, U=0.17 : =
wm- L — A ] a ] m 6
o3
10}’ b N SPLICE TRACKS AT THIS LOCATION
b g ok H END_HINGE W/ (4) 1/4"=20 :ﬂunamv:nm mow_ﬁm & zﬁm.
d — - CURE TO JAMB WTH (3) 50167 x I=
sb — : 11 : : si _ru>mn 30LTS mc_rwv_Z%nrbzw %?J ER
- VIEWE
| A—]) "] REVIEWED FO
= - EODE COMPLIANCE
—p0— KEEP THIS PLAN ON }OB
SECTION HEIGHT
SECTION HEIGHT
INSIDE_ELEVATION ) MAY 17 28081
L strur spacing — sTERL
14GA. DURAZATE 3 ser STRUT SPACING %zwrm*mnfwwa?@gi:. nspeClun uiy-Jax., FL.
" SIS " acr S ATTACHED :
3 20GA. STRUTS ATTACHED END HINGE CHED :
Vs @) 1747 x 3/4° v/ @ e SRR e TRACK SPUCE BQLL4 NUT ‘\ 2
HEX HEAD SCREWS —T ‘ HEX HEAD . m%wnwcuw%mmm»q;nzmu ¢ £ U
P W/ (4) 174° x 3/4° Y
J‘ﬂ@. HEX HEAD SCREWS &
{ NYLON OR STEEL
’ m ROLLER W/S* STEM BERS BOTTOM
rll.f‘ BRACKET ATTACHED c
j V/3) 1747 X 374
‘.“i HEX HEAD SCREVS. i
=5 14GA. DURASAFE P B ~
‘ e/ ROLLER CARRIER ATTACHED 2 _ &N
<D 10 x_3/4° PAN HEADR— o W/ (4 1/4° x 2/4° Al T U™
SCREV. q«Tun)m_u ON Ty HEX HEAD SCREWVS eI - T R W.(
ALL SECTIONS EXCEPT = — - :
TOP. 0P INSIDE CORNER ‘ U V7 CONTe VIR A aaGAL rm . 9
EACH SIDE TRACK CONFIGURATION FOR 6’6 UP TO 8 TALL DOORS = .
aChL DURASACE END_HINGE (ST SECTION A=A (SID ) B
LTS GLAIED SECTION E . Hﬁ—umﬁnb_r DURASAFE CENTER qumm\mj A=A E VIEW JAMB BRACKET LOCATIONS E
s NG, Al B C B E _|s :,
6-6°| 4’ p1-172°] 39° 57° 70°
7-0"| 4* l2i-w/2| 42° | e3° 767

e oeT MAiEn e 1ava WOOD JAMB ATTACHMENT TO STRUCTURE

AT EA. JAMB BRACKET wvov Jmmuwm_ﬂm# P e e B L

7'-6'} 4~ p8-1/2° 36° 54° 72* |82
8'-0°| 4° 21-1/2° 39 57° 75’ |88

SUPPUED BY INSTALLER
( INS ) 20 GA. GALV. STEEL T
END STILE SPECIFICATIONS AND NOTES
Ll 1. DOORS AND HARDWARE WILL BE DESIGNED, MAN aaDs|
5/16" X 3° LAG SCREWS STARTING a° FRON ENDS THEN 24° 0.C AND INSTALLED WTH STANDARDS AS SET qgiﬁwoﬂ-ﬁr umuuw.!u_.wﬂ
2. DOOR SECTIONS SHALL BE 27 GA. MIN. (.016°) INTERIOR AND EXTERIOR -29.5 PSF
VERTICAL JAMR_ATIACHMENT 10 3oc PS)_CONCRETE ROLLED FORMED LIGHT CONMERCIAL QUAUTY, ~G—40 GALVANIZATION
, HLTI KWX BOLT 3/8° X 4° STARTNG 6" FROM ENDS THEN 24° 0.C. 1 DOORS UPTO 70" HIGH CONSIST OF M. SECTIONS AS' SHOWN. TEST LOADS
= — o OR 3/B° X 2 1s° . 4 DOORS UPTO B'0° HIGH CONSIST OF (5) SECTIONS AS SHOWN. . +483 PF
219 / i/ HILT SLEEVE ANGHOR 3/87 X 2-3/4° STARTING §” FROM ENDS THEN 247 O.C. 5 SUFPORTING STRUCTURAL ELEMENTS SHALL BE DESIGW®D Tl pw
/ IS S / ITW/RAMSET RED HEAD 3/8° X 3* S7ARTING B° FROM ENOS THEN 24° 0.C. BY A REGISTRED PROFESSONAL ENGINEER FOR WIND LOADS
HF 7 INDICATED ON THIS DRAWING IN ADOITION. TO OTHER LOADINGS. T
YERTICAL JAMR ATTACHMENT TO ¢_gp B10OCK 5. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE e | UEDRN & A0S [ oe
- = WTH THE PROCEDURE OESCRIBED IN ASTN E330-90, AND THE y
HILT SLEEVE ANCHOR 3/8° X 2-374° STARTING 6™ FROM ENDS THEN 24" 0.C. SOUTHERN BUILDING CODE SECTION 1808 WIND 5>w DESIGN CRITERIA
ITW/RAMSET TAPCON 1/4” X 2-3,¢ STARTING 8" FROM ENDS, USE PARS oF THE PRESSURES SHOWN ON THE DRAWNGS WERE CALCULATED USING
% u.ma xw_q)r_ZNI FASTENERS (37 APART) AT 187 0. THE wﬁaﬁ“””ﬂ“aﬂ = OF 110 MW YN GRATTV OEIX VR VDSTOIN-SADN, KC_FNES |
2" GALV. STEEL TRACK (1) PER ROLLER "LAGS ANO BOLTS CAN BE COUNTERswik TO PROVIDE A FLUSH MOUNTING SURFACE. 8. ._aﬁnnﬁ:znmmw m-mﬂmnw__._mc WTH 5 FEET OF DOORS WIOTH MODEL #1500 WeatherGuard
TRACK THICKNESS  £6&3° ~zx 6 SOUTHERN YELLOW PINE *PREPARATION OF WOOD JAMBS BY opyeRs c _u_m. :nm AN ROOF MEIGHT AT ANY Lore = = N PADw SAEK
TRACK MOUNTING DETAIL {No. 2 OR BETTER) D. USE FACTOR OF 1.0 B o.uﬁas i SBC-580-019-J
£ EXPOSURE RATING GF C
s TAE MT D T s 191 |




